EARAZROREIERT — 2 N—XBISY —F 20135128108 (k) 8EIEFI2H

el S5 23m 127141 AkKE ‘ [®1g] & ‘ [BERE] - | 4 (K) 14000 =
[A&4£] 1 7% :1,000,000 @ ~ 23 :300,000 33%&:170,000 § ~ 4 # :130,000 @ .~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1155 3>F~LF 3 SESII%%Q 1:31.4 9-9-6-3 |39.5| — 4 463 ;”%%iém
: (=) _ 3L
RREFa—ATUNTF4 BAUIS b F— 0 i s
S N # 3 | EEAHlse 1:31.7 6-4-1-1 | 40.4 | — 1 450 | KEEE (fafR)
21811 ZT’;_:\Z;;; /5.= SOEE : %0 (R172) @ | 9,55 (59 _
g 3 > 2y ENX ERESH LxIC b T7—L4
T 4 3 | HIE 1:32.0 3-3-2-2 | 40.6| — 7 456 | =<KDY (fatE)
| i A 0 (r172) () |fEaniiE
: TAvYT BARAITLIA-2 Wiz 24F
Sy = s 3 | EMEfER 1:32.1 7-7-3-4 | 40.3| — 5 441 | BIFERE (f248)
;\.:?-TTZl./tf N 54.0 o) (o) |PREE
Wrh—-r BiJL—-FE-F2Z HEIEHHS
. Rt 1:32.3 4-6-7-6 |40.5| — 6 459 | BH—AI GAFN)
J—=ZXF =%y K i3 A51.0 2ER(-
: (1) ALiRBEZ
LTUGLRISE BNy 7T QR
— s HEREZ 1:32.4 5-5-10-8 | 40.6 | — 2 506 | tE4AERA (Aats)
27T TO-X S0 e
: (172) - sk
R:907% BiATETUyH— 4| sreimans
AZETF—1— 3 gmﬁﬂgz 1:32.4 8-8-4-7 |40.6| — 3 496 Lfc(gk,iz (§#> .
. gE _ Il —-Kk—
QARG LT AT r—K— K BTFHREIHEA e | =g
t> 3 | HAfE— 1:32.7 10-11-11-10{ 40.2 | — 8 417 | EHF (1)
: < B:vFHXEIIL =Y Tr—LA
N T EEA 1:33.0 11-10-8-9 | 41.1| — 1 424 | EHEZE (@)
TR X N — #3 | REmA =
. 11/2 ~ EEREA
LiLF¥a1T—4>N— BAAT7A4T)ER ( ) =5 ﬂ%w%
o “ 3 | mEY 1:33.3 12-12-12-12| 40.0 | — 10 | 437 |EH—EI (@)
i‘ff_/j;)/ﬁ o 54.0 (1'1/2) o |FEEEE
: vy Bz K45
oS _ i3 | BAEHK 1:33.3 1-1-5-5 | 41.8| — 12 | 467 |FILES GEF)
S . 4t 3 | AMERR 1:34.2 2-2-9-11 | 42.4| — 9 434 | #2ILEESE (KH)
121719 TAAR v A > 54.0 ) N $AKER
LiLF¥a17—4A>N— BT RSZAT—H— 3 —mﬁnﬁl‘zﬁzi%
@ 1—F—@&BIEf
13=7r= 6,9,12,10,3,11,4,7,5,1,2,8
Aol=5r= 6,9,12,11,3,10,4,7,5,2,1,8
30—7+— 11,12,4,7,6,5,10,2,9,3,1,8
40 —F— 11,12,5,4,6,10,7,3,2,1,9,8
[ RN
B OB 5 690M 714K 5-11 310M e & 5-8 530M &R 5-11-12 2,850
% B 5 230M 5-12 1,780 | | # B 5-8 2,040 | | 3EE | 5-11-12 17,150
1 130M4 11-12 550M B E 5-11 520
12 280 B H 5-11 2,180

ABICOVWTRDTEEERROODE. TR LIV,



